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UNIT lll.- WHOSE JEANS ARE THESE?
WORKBOOK

Write each sentence a different way.
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What time is it? Use the sentences in the box.
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I Complete the crossword puzzle. Write each time a different way.
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Across (—}
1 it’s five in the morning. it's
4 s 415 s s guarter foLs
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8 It's 800 e, It's eightin the

9 It's twelve 200 It

Down{l)
2 it's 7:00 am. It's sevenin the

3 It’s 3:30. it's three

& It's 4:00 s It's four in the
§ It's 1:15, It's one-

6 It's 3:45.1t5a to four
10 It's 11:00 raa. It's eleven at
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4.2.- Family Tree
WORD POWER Family
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the Carter far NEr isten a . Paul husband  wife Anre
1. Anneis ¥ it
2. Jason and Emily are their poarenid
3 Paul is Annes nwmoond
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6. Jasot Frnilv's DIoANRS
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4.3.- Simple present
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i for kom here don't = do not
You ride  your bike fo sch You don't five roor here doeint » does not  §
Hs works necs here He doasn't work downtown &
She fokes the bus to wor She doesn’t drive 1o work g
We live with our porent e don’t live
They use transporiah hey don't need
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Simple present statements
irregular verbs

and Simple present statements with

¥ in affirmative statements, veros with he/she/it end in He/She walks (0
school. sut 1VYou/We/They walk to school

# In negative ctatements, use doesnt with iy he it and don’t with all the othen
Mo /She/it doesn't live here /You We/ They don't live hare

» Don't add -3 to the vert She doesn't live here S choesrr b ey here

Elena is talking about her family. C
the verbs in parentheses

with the correct form of

antences

My family and | tive) in the city. We .haNe (have]
an apartiment on First Avenue My sintes QEeD (g Lo sChoot

near our apartment, so she A QL

e WNOSE

My mother 026

the bus to her office downtown. She
} it very much. And mie? Well, | DO 0TS

DO\ NG .. . {not ke

far from our apartment, so | 0ot need
.. {ride) my bike to work!

transportation. | ..nde

{work) in the suburbs, 5o he
(use) public transportation

walk) to school. My father
{drive) to his job
\ave {(take)
(have) a new job, but she
{not work)

Anve
l?‘*'zqﬂl

had

inot need) a car or public
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UNIT IV. MY SISTER WORKS DOWNTOWN

WORKBOOK
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